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1) What is the correct indirect form of: He said, 0You had better see a doctorll (=)
A). %) He advised him to see a doctor.

B). ¥) He advised that he should see a doctor.

C). ) He suggested that he seen a doctor.

D). 9) He proposed to see a doctor.

3% Twaz A). ) He advised him to see a doctor.,

2) Identify the word that remains the same in plural form. (2:=f%)
A). ) deer

B). ) horse

C). 9) elephant

D). 9) tiger

5w Tewz A). 7) deer,

3) Which word is correct? (3w=fe)
A). F) Furnitures

B). 4) Informations
C). %) Sceneries
D). @) Proceeds

E).
(5<% Teaz D). €) Proceeds,

4) The word Oflyingl in the sentence OLook at the flying birdl is- (3:=fe)
A). ) gerund

B). «) participle

C). 9 verbal noun

D). 9) gerundial infinitive

(5% Tes B). ¥) participle,

5) Identify the determiner in the sentence 0Bring me that bookll (3= (%)
A). ) bring

B). 4) me

C). ) that

D). 9) book

7o Tes3 C). ) that,

6) OA Passage to Indial is written by- (2:=fe)
A). <) E M Forster

B). ¥) Nirad C Chauhuri

C). 1) Rudyard Kipling

D). 9) Walt Whitman

76w Teqs A). F) E M Forster,
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7) What is the meaning of Umuskl? (3w=f&)

A). %) a form of drama

B). ) face cover

C). o) a substance used in making perfume

D). ¥) a disguise

Af§<s Twas C). ) a substance used in making perfume,

8) What is the meaning of Imuskd? (3=fe)

A). ) a form of drama

B). ) face cover

C). 9) a substance used in making perfume

D). 9) a disguise

7 @<z C). o) a substance used in making perfume,

9) Go and catch the falling star. Here the Ofallingll is- (3z=fe)
A). <) An adverb

B). ) A preposition

C). 9) An adjective

D). 9) A verb

75 T@as C). =1) An adjective,

10) Hasan has read most of the _____ of Shakespeare. (33®)
A). <) poem

B). ¥) play

C). 9) drama

D). @) works

6% Tesz D). ) works,

11) Fill in the gap with the correct form of the verb: The police informed yesterday. (3w=fe)
A).3)is

B). ¥) are

C). %) was

D). 9) were

A< Twaz D). 1) were,

12) Complete the sentence. If | were you, | _____ take the money. (35®)
A). %) shall

B). ¥) will

C). ) would

D). 9) may

A6 T C). 1) would,
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13) Would you please find out Bangladesh the map? (3w=®)
A). F)in

B). %) on

C). 9) over

D). ¥) at

5% Teaz B). ) on,

14) Liza had given me two_____ (3waf&)
A). ) pair of jean

B). %) pairs of jean

C). ) pair of jeans

D). 9) pairs of jeans

76 @<z D). W) pairs of jeans,

15) 0Giving someone the cold shoulderl means- (2(®)
A). <) To torture somebody

B). ¥) To harm somebody

C). %) To appreciate somebody

D). @) To ignore somebody

71f6% Tesz D). 9) To ignore somebody,

16) 0September on the Jessore Roadll is written by- (3:fe)
A). F) Madhusudan Dutt

B). %) Allen Ginsberg

C). ) Kaisar Hoq

D). 9) Vikram Seth

7<% Twaz B). <) Allen Ginsberg,

17) Identify the correctly spelled one. (3=fe)
A). F) Caesarian

B). ¥) Ceasarian

C). ) Ciserian

D). 9) Scissorian

5% Tesz A). ) Caesarian,

18) What is the function of a topic sentence? (3:af%)
A). ) To introduce the topic

B). 4) To analyse the topic

C). o) To present the main idea

D). 9) To expand the idea

5% Teas C). o) To present the main idea,
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19) For Godls sake, hold your tongue and let me lovel occurs in a novel by- (2fe)
A). ) Jane Austin

B). ¥) Syed Waliullah

C). %) Somerset Maugham

D). 9) Rabindranath Tagore

5f%< T@az D). €) Rabindranath Tagore,

20) To doctor an animal means- (3E®)
A). ) To treat it

B). ¥) To sterilize it

C). 9 To poison it

D). ) To cure it

wfos Tess B). ) To sterilize it,
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